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NIVERSITY OF
TRATHCLYDE




in Glasgow
Department of Accounting and Finance

40305 Accounting 8

	Friday 27th May 2005
	9.30am – 11.30am    2 hours


There are 5 questions in all

Answer question ONE

and ANY TWO other questions

Calculators must not be used to store text and/or formulae nor be capable of communication. 

Invigilators may require calculators to be reset
Answer Question 1 and ANY TWO others

QUESTION 1

P plc acquired 75% of the ordinary share capital of Q plc on 1 January 1998 when the balance on Q plc’s profit and loss account was £2.5m and the share capital was £3.0m. 

On 1 January 1999 P plc acquired 30% of the share capital of R plc. As part of this transaction, R plc was given the right to appoint its nominee to R plc’s board. R plc had a balance of £900,000 on its profit and loss account at that date and its share capital was £2.0m.

The latest balance sheets of the three companies are shown below:
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P plc

Q plc

R plc

£000

£000

£000

Tangible Fixed assets

Land and buildings

6,000 

5,100 

2,000 

Plant and machinery

4,000 

900 

700 

10,000 

6,000 

2,700 

Fixed Asset Investments

Investment in Q plc

7,500 

Investment in R plc

1,500 

19,000 

6,000 

2,700 

Current Assets

Stock

2,200 

1,100 

1,000 

Debtors

2,400 

1,200 

600 

Bank

200 

100 

90 

4,800 

2,400 

1,690 

Current liabilities

(2,300)

(900)

(500)

2,500 

1,500 

1,190 

21,500 

7,500 

3,890 

Share capital

6,000 

3,000 

2,000 

Profit and loss

15,500 

4,500 

1,890 

21,500 

7,500 

3,890 

 


P plc conducted its annual impairment review of the goodwill on acquisition of Q plc on 31 December 2004.  It was found that goodwill on acquisition had declined in value by 25% since the date of acquisition. This was the first time that goodwill on acquisition had been deemed to have suffered impairment since the investment in Q plc had been acquired.

P plc’s debtors includes £50,000 owed by Q plc. Q plc shows a corresponding creditor balance of £30,000. Q plc despatched a cheque for £20,000 prior to 31 December 2004, which was not received and banked by P plc until January 2005.

Required:

(a) Prepare a consolidated balance sheet for P Group as at 31 December 2004.

(23 marks)

(b)
Associate companies are neither treated as full members of the group nor are they treated as simple investments. Critically appraise the logic behind the accounting treatment of associates as laid down by IAS 28 Investments in Associates.

(10 marks)

(Total: 33 marks)

QUESTION 2

On 30 June 2000 Acct plc acquired 60% of the shares of Wirschaft Gmbh, a German company. The latest financial statements of Wirschaft Gmbh are as follows: 
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€000

Sales 220,000    

Opening stock 30,000      

Purchases 165,000    

Closing stock 32,000      

Cost of sales 163,000    

Gross profit 57,000      

Depreciation 25,000      

Other expenses 7,000        

Interest paid 2,000        

Total expenses 34,000      

Profit before tax 23,000      

Tax 16,000      

Profit after tax 7,000        

Balance sheet as at 31 December 2004

€000

Non-current assets 150,000    

Current assets

Stock 32,000      

Debtors 38,000      

Cash 1,100        

71,100      

Current liabilities

Creditors 27,000      

Tax 16,000      

43,000      

Loans 25,000      

153,100    

Share capital 10,000      

Revaluation reserve 18,000      

Retained profit 125,100    

153,100    


Non-current assets were acquired on 1/1/2001 when the exchange rate was €6 to the £

The revaluation reserve arose from the revaluation of non-current assets on 1/1/2002 

Opening inventories were acquired when the exchange rate was £1 = €3

Closing inventories were acquired when the exchange rate was £1 = €2.5

The balance on Wirschaft Gmbh’s profit and loss account at 31 December 2003 was €68,000,000 which was translated as £15,000,000.

Exchange rates were as follows:

•
At 30 June 2000




£1 = €5

•
At 1 January 2002




£1 = €5

•
Average for the year ended 31 December 2004
£1 = €4

•
At 31 December 2003




£1 = €3.5

•
At 31 December 2004




£1 = €2

Required:

(a)
Translate the statements of Wirschaft Gmbh into Sterling in accordance with the requirements of IAS 21.

(15 marks)

(b)
Explain why the temporal method is regarded as a superior accounting treatment to the closing rate method.

(8 marks)

(c)
Given the alleged superiority of the temporal method, explain why it took some time for accounting standard setters to impose a requirement for anything other than closing rate.

(10 marks)

(Total: 33 marks)

Question 3

The directors of Seegee plc have sought your advice about the implementation of IFRS 2 Share-based Payment. They have decided to implement the IFRS on a voluntary basis for the year ended 31 March 2005. The company has an executive stock option plan. Every member of the board has received a package of share options on an annual basis for the past several years.

They have asked your advice on the following issues:

(a)
Why would a company wish to issue share options? They wish to explain the objectives of the executive share option scheme in a voluntary narrative disclosure appended to the annual report.

(10 marks)

(b)
How should they go about valuing the share options? They wish a detailed analysis of the methods they might use, with an indication of the strengths and weaknesses of each.

(13 marks)

(c)
Will the requirement to expense share options lead to “better accounting”? They wish to address this matter in a paragraph to the Chairman’s Report.

(10 marks)

Required:

Draft responses to each of the requests listed above. You are NOT required to provide these in a report format.

(Total: 33 marks)

Question 4

Discuss the assertion that accountancy is a technical discipline and not an ethical one.

 (33 marks)

Question 5

Under current Company Law Reform, all quoted companies in Great Britain will be required to prepare an Operating and Financial Review (OFR) for the financial years beginning on or after 1 April 2005.

Required:

(a)
Explain the purpose and intended effect of making the production of an OFR mandatory for all quoted companies?

(11 marks)

(b)
Discuss the impact that you believe the requirement for a mandatory OFR will have on the quality and quantity of corporate disclosures and on the quality of investors’ decision making.

(11 marks)

(c)
Explain whether you believe that the current balance between self regulation by the accountancy profession and governmental regulation of financial reporting is acceptable.

(11 marks)

(Total: 33 marks)

END OF PAPER

Margaret Stewart Ext 3167

Margaret Stewart Ext 3167
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Sheet1

		Balance sheets as at 31 December 2004

				P plc		Q plc		R plc

				£000		£000		£000

		Tangible Fixed assets

		Land and buildings		6,000		5,100		2,000

		Plant and machinery		4,000		900		700

				10,000		6,000		2,700

		Fixed Asset Investments

		Investment in Q plc		7,500

		Investment in R plc		1,500

				19,000		6,000		2,700

		Current Assets

		Stock		2,200		1,100		1,000

		Debtors		2,400		1,200		600

		Bank		200		100		90

				4,800		2,400		1,690

		Current liabilities		(2,300)		(900)		(500)

				2,500		1,500		1,190

				21,500		7,500		3,890

		Share capital		6,000		3,000		2,000

		Profit and loss		15,500		4,500		1,890

				21,500		7,500		3,890
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		Profit and loss account for the year ended 31 December 2004

				€000

		Sales		220,000

		Opening stock		30,000

		Purchases		165,000

		Closing stock		32,000

		Cost of sales		163,000

		Gross profit		57,000

		Depreciation		25,000

		Other expenses		7,000

		Interest paid		2,000

		Total expenses		34,000

		Profit before tax		23,000

		Tax		16,000

		Profit after tax		7,000

		Balance sheet as at 31 December 2004

				€000

		Non-current assets		150,000

		Current assets

		Stock		32,000

		Debtors		38,000

		Cash		1,100

				71,100

		Current liabilities

		Creditors		27,000

		Tax		16,000

				43,000

		Loans		25,000

				153,100

		Share capital		10,000

		Revaluation reserve		18,000

		Retained profit		125,100

				153,100
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